

MATH 218 Differential Equations, Solutions to Assignment 5

1: Solve the following IVPs.

(a) $y'' + 3y' + 2y = 0$ with $y(0) = 1$, $y'(0) = 0$

Solution: The characteristic equation is $r^2 + 3r + 2 = 0$. We solve this to get $r = -1, -2$ so the general solution to the DE is $y = Ae^{-x} + Be^{-2x}$, and then we have $y' = -Ae^{-x} - 2Be^{-2x}$. To get $y(0) = 1$ we need $A + B = 1$ (1), and to get $y'(0) = 0$ we need $-A - 2B = 0$ (2). Solve these two equations to get $A = 2$, $B = -1$, so the solution to the IVP is $y = 2e^{-x} - e^{-2x}$.

(b) $y'' + 4y' + 5y = 0$ with $y(0) = 3$, $y'(0) = 1$

Solution: The characteristic equation is $r^2 + 4r + 5 = 0$. Solve this to get $r = -2 \pm i$, so the general solution is $y = Ae^{-2x} \sin x + Be^{-2x} \cos x$, and we have $y' = -2Ae^{-2x} \sin x + Ae^{-2x} \cos x - 2Be^{-2x} \cos x - Be^{-2x} \sin x$. To get $y(0) = 3$ we need $B = 3$, and to get $y'(0) = 1$ we need $A - 2B = 1$ or $A = 7$. Thus the solution to the IVP is $y = 7e^{-2x} \sin x + 3e^{-2x} \cos x$.

(c) $4y'' - 4y' + y = 0$ with $y(1) = 1$, $y'(1) = 2$

Solution: The characteristic equation is $4r^2 - 4r + 1 = 0$, that is $(2r - 1)^2 = 0$, so $r = \frac{1}{2}$ and the general solution to the DE is $y = Ae^{x/2} + Bxe^{x/2}$, and then $y' = \frac{1}{2}Ae^{x/2} + Be^{x/2} + \frac{1}{2}Bxe^{x/2}$. To get $y(1) = 1$ we need $Ae^{1/2} + Be^{1/2} = 1$ (1), and to get $y'(1) = 2$ we need $\frac{1}{2}Ae^{1/2} + \frac{3}{2}Be^{1/2} = 2$ (2). Multiply equation (1) by $\frac{3}{2}$ and subtract equation (2) to get $Ae^{1/2} = -\frac{1}{2}$ so $A = -\frac{1}{2}e^{-1/2}$, and then multiply equation (2) by 2 and subtract equation (1) to get $2Be^{1/2} = 3$ so $B = \frac{3}{2}e^{-1/2}$. Thus the solution to the IVP is $y = -\frac{1}{2}e^{-1/2}e^{x/2} + \frac{3}{2}e^{-1/2}xe^{x/2} = \frac{1}{2}(3x - 1)e^{(x-1)/2}$.

2: Solve the following DEs.

(a) $y'' - 2y' + 5y = 10x^2 - 3x$

Solution: The characteristic equation is $r^2 - 2r + 5 = 0$. Solve this to get $r = 1 \pm 2i$ so the general solution to the associated homogeneous DE is $y = Ae^x \sin 2x + Be^x \cos 2x$. To find a particular solution to the given (non-homogeneous) DE, we try $y = y_p = ax^2 + bx + c$. Then $y' = 2ax + b$ and $y'' = 2a$. Put these in the DE to get

$$\begin{aligned} 10x^2 - 3x &= y'' - 2y' + 5y \\ &= 2a - 4ax - 2b + 5ax^2 + 5bx + 5c \\ &= 5a x^2 + (5b - 4a)x + (2a - 2b + 5c). \end{aligned}$$

Equating coefficients gives $5a = 10$, $5b - 4a = -3$ and $2a - 2b + 5c = 0$. Solve these three equations to get $a = 2$, $b = 1$ and $c = -\frac{2}{5}$, so we obtain the particular solution $y_p = 2x^2 + x - \frac{2}{5}$. The general solution to the given DE is $y = Ae^x \sin 2x + Be^x \cos 2x + 2x^2 + x - \frac{2}{5}$.

(b) $y'' + 2y' - 2y = 3xe^{2x}$

Solution: The characteristic equation is $r^2 + 2r - 2 = 0$. Solve this to get $r = -1 \pm \sqrt{3}$, so the general solution to the associated homogeneous DE is $y = Ae^{(-1+\sqrt{3})x} + Be^{(-1-\sqrt{3})x}$. To find a particular solution to the given DE, we try $y = y_p = (ax + b)e^{2x}$. Then $y' = (2ax + a + 2b)e^{2x}$ and $y'' = (4ax + 4a + 4b)e^{2x}$. Put these into the DE to get

$$\begin{aligned} 3xe^{2x} &= y'' + 2y' - 2y \\ &= (4ax + 4a + 4b)e^{2x} + 2(2ax + a + 2b)e^{2x} - 2(ax + b)e^{2x} \\ &= 6axe^{2x} + (6a + 6b)e^{2x}. \end{aligned}$$

Divide both sides by e^{2x} to get $3x = 6ax + (6a + 6b)$. Equating coefficients gives $6a = 3$ and $6a + 6b = 0$. Solving these two equations gives $a = \frac{1}{2}$ and $b = -\frac{1}{2}$, so we obtain the particular solution $y_p = \left(\frac{1}{2}x - \frac{1}{2}\right)e^{2x}$. Thus the general solution to the given DE is $y = Ae^{(-1+\sqrt{3})x} + Be^{(-1-\sqrt{3})x} + \frac{1}{2}(x - 1)e^{2x}$.

3: Solve the following DEs.

(a) $2y'' + y' - y + x + e^{-x} = 0$

Solution: The characteristic equation is $2r^2 + r - 1 = 0$. Solve this to get $r = \frac{1}{2}, -1$, and so the general solution to the associated homogeneous DE is $y = Ae^{x/2} + B^{-x}$. To find a particular solution to the DE $2y'' + y' - y = -x$, we try $y = ax + b$. Then $y' = a$ and $y'' = 0$. We put these in the DE to get

$$-x = 2y'' + y' - y = a - ax - b = -ax + (a - b).$$

Equating coefficients gives $-a = -1$ and $a - b = 0$, so we get $a = 1$ and $b = 1$, and we obtain the particular solution $y = x + 1$. To find a particular solution to the DE $2y'' + y' - y = -e^{-x}$, we try $y = axe^{-x}$. Then $y' = ae^{-x} - axe^{-x}$ and $y'' = -2ae^{-x} + axe^{-x}$. Put these in the DE to get

$$-e^{-x} = 2y'' + y' - y = -4ae^{-x} + 2axe^{-x} + ae^{-x} - axe^{-x} - axe^{-x} = -3ae^{-x}.$$

Divide both sides by e^{-x} to get $-1 = -3a$ so $a = \frac{1}{3}$ and we obtain the particular solution $y = \frac{1}{3}xe^{-x}$. A particular solution to the given DE is obtained by adding together these two particular solutions to get $y_p = x + 1 + \frac{1}{3}xe^{-x}$. The general solution to the given DE is $y = Ae^{x/2} + Be^{-x} + x + 1 + \frac{1}{3}xe^{-x}$.

(b) $y'' - 6y' + 10y = e^{3x} \sin x$

Solution: The characteristic equation is $r^2 - 6r + 10 = 0$. Solve this to get $r = 3 \pm i$, so two linearly independent solutions to the associated homogeneous DE are $y_1 = e^{3x} \sin x$ and $y_2 = e^{3x} \cos x$. Note that $y_1' = 3e^{3x} \sin x + e^{3x} \cos x = 3y_1 + y_2$, and $y_2' = 3e^{3x} \cos x - e^{3x} \sin x = -y_1 + 3y_2$. To find a particular solution to the given DE, we try $y = y_p = Axy_1 + Bxy_2$. Then $y' = Ay_1 + Axy_1' + By_2 + Bxy_2'$ and $y'' = 2Ay_1' + Axy_1'' + 2By_2' + Bxy_2''$. Put these in the DE to get

$$\begin{aligned} y_1 &= e^{3x} \sin x = y'' - 6y' + 10y \\ &= 2Ay_1' + Axy_1'' + 2By_2' + Bxy_2'' - 6Ay_1 - 6Axy_1' - 6By_2 - 6Bxy_2' + 10Axy_1 + 10Bxy_2 \\ &= 2Ay_1' + 2By_2' - 6Ay_1 - 6By_2 + Ax(y_1'' - 6y_1' + 10y) + Bx(y_2'' - 6y_2' + 10y_2) \\ &= 2Ay_1' + 2By_2' - 6Ay_1 - 6By_2 \\ &= 2A(3y_1 + y_2) + 2B(-y_1 + 3y_2) - 6Ay_1 - 6By_2 \\ &= -2By_1 + 2Ay_2, \end{aligned}$$

where we used the fact that y_1 and y_2 are solutions to the associated homogeneous DE, and we used the earlier-mentioned identities $y_1' = 3y_1 + y_2$ and $y_2' = -y_1 + 3y_2$. Since y_1 and y_2 are independent, we can equate coefficients to get $-2B = 1$ and $2A = 0$, that is $A = 0$ and $B = -\frac{1}{2}$, and so we obtain the particular solution $y_p = -\frac{1}{2}xe^{3x} \cos x$. Thus the general solution to the given DE is $y = Ae^{3x} \sin x + Be^{3x} \cos x - \frac{1}{2}xe^{3x} \cos x$.

4: Solve the following IVPs.

(a) $4y'' - y = x$ with $y(0) = 2$, $y'(0) = 1$

Solution: The characteristic equation is $4r^2 - 1 = 0$. Solve this to get $r = \pm\frac{1}{2}$, so the general solution to the associated homogeneous DE is $y = Ae^{x/2} + Be^{-x/2}$. To find a particular solution to the given DE, we try $y = y_p = ax + b$. Then $y' = a$ and $y'' = 0$. Put these in the DE to get $x = 4y'' - y = -ax - b$. Equating coefficients gives $a = -1$ and $b = 0$, so we obtain the particular solution $y_p = -x$. The general solution to the given DE is $y = Ae^{x/2} + Be^{-x/2} - x$, and then $y' = \frac{1}{2}Ae^{x/2} - \frac{1}{2}Be^{-x/2} - 1$. To get $y(0) = 2$ we need $A + B = 2$ (1), and to get $y'(0) = 1$ we need $\frac{1}{2}A - \frac{1}{2}B - 1 = 1$, that is $A - B = 4$ (2). Solving these two equations gives $A = 3$ and $B = -1$, so the solution to the given IVP is $y = 3e^{x/2} - e^{-x/2} - x$.

(b) $y'' - 6y' + 9y = e^{3x}$ with $y(0) = 1$, $y'(0) = 0$

Solution: The characteristic equation is $r^2 - 6r + 9 = 0$. The only solution is $r = 3$ so the general solution to the associated homogeneous DE is $y = Ae^{3x} + Bxe^{3x}$. To find a particular solution to the given DE, we try $y = y_p = ax^2e^{3x}$. We then have $y' = a(2x + 3x^2)e^{3x}$ and $y'' = a(2 + 12x + 9x^2)e^{3x}$. Put these in the DE to get

$$e^{3x} = y'' - 6y' + 9y = a(2 + 12x + 9x^2)e^{3x} - 6a(2x + 3x^2)e^{3x} + 9ax^2e^{3x} = 2ae^{3x}.$$

Divide by e^{3x} to get $1 = 2a$, so $a = \frac{1}{2}$ and we obtain the particular solution $y_p = \frac{1}{2}x^2e^{3x}$. The general solution to the given DE is $y = Ae^{3x} + Bxe^{3x} + \frac{1}{2}x^2e^{3x}$, and then $y' = 3Ae^{3x} + Be^{3x} + 3Bxe^{3x} + xe^{3x} + \frac{3}{2}x^2e^{3x}$. To get $y(0) = 1$ we need $A = 1$, and to get $y'(0) = 0$ we need $3A + B = 0$ so $B = -3$. Thus the solution to the given IVP is $y = e^{3x} - 3xe^{3x} + \frac{1}{2}x^2e^{3x}$.

5: Solve the following third-order DEs.

(a) $y''' + 2y'' - 5y' - 6y = 0$

Solution: The characteristic polynomial is $r^3 + 2r^2 - 5r - 6 = (r - 2)(r^2 + 4r + 3) = (r - 2)(r + 1)(r + 3)$, and so the general solution to the DE is $y = Ae^{2x} + Be^{-x} + Ce^{-3x}$.

(b) $y''' - 3y' + 2y = 2 \sin x$

Solution: The characteristic polynomial is $r^3 - 3r + 2 = (r - 1)(r^2 + r - 2) = (r - 1)^2(r + 2)$, and so the general solution to the associated homogeneous DE is $y = Ae^x + Bxe^x + Ce^{-2x}$. To find a particular solution to the given DE, we try $y = y_p = a \sin x + b \cos x$. We then have $y' = a \cos x - b \sin x$, $y'' = -a \sin x - b \cos x$ and $y''' = -a \cos x + b \sin x$. Put these in the DE to get

$$\begin{aligned} 2 \sin x &= y''' - 3y' + 2y \\ &= -a \cos x + b \sin x - 3a \cos x + 3b \sin x + 2a \sin x + 2b \cos x \\ &= (2a + 4b) \sin x + (-4a + 2b) \cos x. \end{aligned}$$

Since $\sin x$ and $\cos x$ are linearly independent, we can equate coefficients to get $2a + 4b = 2$ and $-4a + 2b = 0$. Solving these two equations gives $a = \frac{1}{5}$ and $b = \frac{2}{5}$, and so we have obtained the particular solution $y_p = \frac{1}{5} \sin x + \frac{2}{5} \cos x$. The general solution to the given DE is $y = Ae^x + Bxe^x + Ce^{-2x} + \frac{1}{5} \sin x + \frac{2}{5} \cos x$.